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1. Find the limits. (15%) 

. £-3
(a) 	hmX~9-­ (b) l' tan(3x) 


x-9 Imx~o sin(8x) 


(c) 1imx~oo(x - ..../x2 + x) 

2. Find d 
y 

. (150/0)
dx 

(b) - rO ~ 
Y - Jtan(x) l+tZ 

(c) x 3 + 4xy - 3yi 
4 

- 2x = 0 

3. Evaluate the integraL (15%) 

(a) f01(1 +~X4 + sin(2x))dx (b) f(5 X + I 1 )dx 
X oglOx 

(c) f ..../1 - 9x2dx 

3 

4. Let 	[(x) = 3x ~+1.Find all possible relative extreme points, and inflection points, and sketch the 

curve.(15%) 

5. Solve the initial value problem, dy + xy = x, yeO) = -6. (10%)
dx 

6. Find the series' radius and interval of convergence of L~=l (3: ++11n
. (l 0%) 

n 

7. Use Lagrange muItiplierto find the extreme values of [(x,y) = x 2y on x + y = 3. (10%) 

8. Calculate the double integral f01 f/ 1-Y\x2 + y2)dxdy (10%) 

~. ~ 


